EARAROBREBRT —5 XN—ZXBISH—F 2022E8817H (K) 9m@AH4H

NN 5536 142752397k BN R
[xE<%] 1 & :1,500,000 3 . 23&:600,000H . 33&:375,000H  43&:225,000 3 . 5 3&:150,000 3
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
S = 1|88 :28. -8~ . - TZER (KH)
1 10| 73147 1= 30 1(2_8)9 bo7 |32 7 f_729) I
RVPRIVIA I FVvAY FIRILLBRS IS
o o AHES :29. 6~ . - DEE— (KAH)
2 6| ITATARA R (12219/3 Tee B0 ’ f;) IAERE
RFAUAYRA NUAw N B:7Ibo—F Ll RER
v~ 3~ 3 | BREK 1:29.5 1-1-1 [39.6| - 11 | 468 |AEFHE (IH)
Y 2 B CPPP 2810 7 vy | EEE
RibwFO—)LR B:DIUFUIER Hh &=
— _ 4 3 | BREK 1:29.6 9-11-10 |38.6| — 4 | 437 |IBTIC (IR
41814 TLZA—"A0O A53.0 /2 (1) | EATEE
R:IvVTIikory s B:YILTFaL—Ya 1YY
= s 3 | Al 1:29.6 4-3-4 395 — 10 | 456 | EE2ER KFH)
5/5/8/437 56.0 @E) (o) | IRIE
R:FVHh—T BRIARFIN ARNTT7—L
== S 3 | HIBEE® 1:29.7 13-12-12 [38.4| - 12 | 415 |FRMR KH)
61813/ X135V —2 E 54.0 (172) +7) ;JF\ESHE}R
RINMVTSY BiRRI—EAL—Y BRER 45
= it 3 | BRE 1:29.8 2-2-2 |39.9] - 9 463 | TEBA0E OKF)
7 5734 54.0 E) (5 | BAHE
Relk40 B:I50I1T7Y WH BR
o 8 3 | EEEER 1:29.9 1M-9-11 [39.1| — 5 49 | N LEEE (KH)
8 P RRA =] 54.0 /2 (6) | BEB—
R:aN/VwFk— BISUYRNDR BE -
. ~ —_= REEZ :29. -10- . - BHEL ()W)
ol -7 | g GBs | s |po| - | e | EEER
RiEvI7—H— B:F7ZRIAYI2TIIL W& SHIS
ST o — s 3 | BEE 1:29.9 5-3-3  [39.8| - 8 61 |BHR KH)
100101917 0—= 54.0 U\F) (+4) IBEE
RiEwITF—Y— 8:N\FTTF JI95TF—L
g - ~ 43 | BARE 1:30.0 6-5-6 [39.7| — 3| 467 |BRE (KH)
117 12 '\U_.[Ajl )IJ]J 56.0 /2 1) thy | f&
R:AX—KT7I3Y B:T7—-RAVIAH— BB
WS vy 3 | IEOHEE 1:30.6 11-14-14 [38.7 | - 13 | 454 | =IRBEEE ()\HE)
12057 | OCFILRAY Y2 77 %o a3 10 | B ATVT oK
RIYZIRI—=ZRI— B:YrFUFRO—R (Elee ]
S~ s 3 | HEHE 1:31.4 14-13-13 [40.1| - 1 473 | EHE (1)
Bz vIrrYF 54.0 ) +18) Ee
RIXVIATFqwIVAUT7— BOAREZY—)L it %8R
> s 3 | FEREE 1:31.4 3-7-8 | 40.9| — 14 | 452 |EEF0ME (KH)
14 4 hte/ 942 56.0 (79) 0 Rl
RiN40 B:YISFSFF =T
@ 11— —BRIEfI
13—7F—
20— — 3,5,4,8,1,12,6,10, (9,14), (2,7) ,13,11
Fol=zr= 3,5.(1,8),12,6,4,10,2,9,14,13,11,7
40—7F— 3,5,1,8,6,12,10,4,9,14,2,13,11,7
0 ILRE
BB 10 1,450 JA R 6-10 920/ & 4-6 810 3ER 3-6-10 46,880H
B B 10 450 3-10 7,410 (=] 6-4 1,840 3Es 10-6-3 256,170
6 180M 3-6 4,640M B E 6-10 2,630
3 1,440 =51 10-6 6,570

ABIC OV TRUTEREERRODDZE. THRIIZEL.




